MODEL :IP-310/1P-410
List No : 1484-01

PARTS LIST

Published:09/10/2017



CONTENTS

INTELLIGENT PNANEL ..ottt sttt sse s ss et bbb et
HOW TO MAKE USE OF THIS PARTS LIST ..ottt sssesssesssessse e st sese s sessssessons

TOC -1



INTELLIGENT PNANEL

o &

|

24~27
Wz



INTELLIGENT PNANEL

No. Parts No. Parts name Remarks Level Cons Qty
1(40015757 IP-410 FOR IP-410 1
2140052017 IP-310 FOR IP-310 1
3140000146 LCD_CABLE_ASS'Y * 1
4140030926 LCD HOLDER BOARD * 1
5140005848 D-SUB 9P COVER * 1
6 | HX00354000N SPACER * 5
7| HX00354000S SPACER * 2
8|SL4030691SC SCREW M3X6 * 1
9|SL4030691SC SCREW M3X6 * 2

10| SL4030681SC SCREW M3 L=6 * 4
11140051330 IP-410_LCD_ASSY * 1
1240046076 IP-410_FRONT_CASE_ASSY FOR IP-410 * 1
13140046088 IP-410 REAR CASE ASSY * 1
14| CM600100101 WEEE MARK LABEL S * 1
15140044971 REAR_CASE_PLATE * 1
16 | SM4030501SF SCREW M3 L=5 * 1
17140051332 ISOLATION_SHEET_B * 1
1840051333 EMC_SHIELDING_SHEET * 1
19140042796 PANEL PCB A ASSY FOR IP-410 * 1
20 (40046075 IP-310_FRONT_CASE_ASSY FOR IP-310 * 1
21(40052020 PANEL PCB B ASSY FOR IP-310 * 1

2240055276
23 |HN002840000
2440055573
25(40050647
26 (40057941
27(40059370

PANEL CABLE A ASM

CORES

COMPACTFLASH(TM) SET AMS-210E
COMPACTFLASH(TM) SET AMS-221E
IP-410B COMPACTFLASH(TM)
IP-310A_COMPACTFLASH(TM)

FOR AMS-210E
FOR AMS-221E
FOR LK-1900A
FOR LBH-1790




HOW TO MAKE USE OF THIS PARTS LIST

1.Explanation of codes

1)"*'mark........means this partis changed from the previous parts book.

Asto the details of the change, refer to the "List for information of change”.

'H01"........refer to "Note" explanation at bottom of page.
2.Codes on the "Qty" column

+ Each numeral indicates the number of parts required.

+"0.1"and "2.5" indicate the length (in meters) of the respective parts.
3.Parentheses mean that the corresponding part is a subpart that constructs an assembly part.
4Dotted lines on the Figures indicate assembly parts.

5.As to the parts with marks of "Y¢"(consumable parts) and "O"(optional parts)on the respective parts,
it is recommended to prepare spares.

1.SER R S B

1) " "Hes FIEID/N—Y Ty J 1B L TSEEEE Nz E®R L £,
EERNEIF. "BEEFRIVA N ZSEBLTIEEL,
2) "#01".c N—VTF0 IR DFAESRLTIEL,

2 MERMDE=FIE. EHFZRL. 0.1, 25F0HEIF. BE BEAIA—FIL) ZRLET,.
S3HEMD () IF HERZBHAL WS FEHRTHBD I LEZEBKRLET,
AAZAIR=DD————— 2F. HBHTHBHIEZRERLET,

5. R XR=ID"N" CHEFEERG) « "O" (F 72 3 VEk&) DEIR DU BRI
Tz L THEEZ2BRBHLET,

X'AVINT R T7Zvia (TM) "EEKEY > T 0 RODOEREIZE T,

*"CompactFlash(TM)"is the registered trademark of
SanDisk Corporation,U.S.A




NUMERICAL INDEX OF PARTS

PART NO PAGE REF NO.
40000146 2 3
40005848 2 5
40015757 2 1-2
40030926 2 4
40042796 2 19-21
40044971 2 15
40046075 2 12-20
40046076 2 12-20
40046088 2 13
40050647 2 24~27
40051330 2 11
40051332 2 17
40051333 2 18
40052017 2 1-2
40052020 2 19-21
40055276 2 22
40055573 2 24~27
40057941 2 24~27
40059370 2 24~27
CM600100101 2 14
HN002840000 2 23
HX00354000N 2 6
HX00354000S 2 7
SL4030681SC 2 10
SL4030691SC 2 9
SM4030501SF 2 16

INDEX - 1



	1484-01
	CONTENTS
	INTELLIGENT PNANEL
	HOW TO MAKE USE OF THIS PARTS LIST
	NUMERICAL INDEX OF PARTS


